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>u=[1234E8];y=1[54321];
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ans =

1%5 logical HH'E
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hw_01.m

” | + |

13 X Y
14 %
15 % % = [true true false false];
16 % y = [true false true false];
17 %
18 Ax &y
19 xx |y
28 %
21 %
22 %
23 # for x=0:2:18
24 # a = 2"x
25 % end
26 %
27
28 a = 3;
29 if a<l
30 b = a+l
31 else
32 C = a+2
33 end|
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| class_09_08m | class 09 08_02m | class_09.08.03m | hwoim | + |
20 % '
21 %
22 4
23 % for x=0:2:18
24 % a = 2"x
25 % end
26 %
27 %
28 % a = 3
29 % if a<l
30 4 b = a+1
31 % else
32 4 C = a+2
33 % end
34
35
36 a=1;
37 while a < 4
38 a = a+ﬂ
39 end
48
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3
a =
4
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| class_09_08m | class_09.08.02m i | class_09.08_03m | hw 0lm | + |
24 = a = 2"x
25 # end
26 4
27 4
28 % a=3;
29 % if a<l
3@ 4 b = a+l
31 % else
32 4 Cc = a+2
33 # end
34 4
35 4
36 % a-=1;
37 % while a < 4
38 4 a = a+l
39 # end
49
41
42 a=1; b=2; c = 3
43 b=2|
44
ZEE
= hw_01
b =
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T = at.
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end

a=1;

while a < 4
a = a+l
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19 plot(x, y, "--rs’, 'Linewidth’, 2, 'MarkerEdgeColor’, 'k', ... d
58 ‘MarkerSize', 1@);
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51
52
5 f = inline('x"3+6%x-2", 'x'});
54 F(3)
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a=1;
while a < 4

a = a+l
end
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x = 1:18;
= x.M2;

plot(x, y, '--rs’, 'Linewidth', 2, 'MarkerEdgeColor’, 'k’,
"MarkerSize', 1@);
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56 e d = 1,
37 % while a < 4
38 F4 a = a+l
39 % end
49 %
41 %
42 %a=1;b=2; c = 3;
43 % b=2
44
45 %
A6 % x = 1:18;
A7 %y = x.M2;
48 %
49 % plot(x, vy, '--rs’', 'Linewidth', 2, 'MarkerEdgeCoclor’, 'k’,
58 % "MarkerSize®, 18);
51
52
53 f = inline( 'x."3+6*x-2", 'x');
54 £([3 4 9D
55
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x> hw 01
ans =
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*x = 1:18;
y = x."2;

plot(x, v, "--rs', 'Linewidth', 2, "MarkerEdgeCo
'MarkerSize', 18);

f = inline( " x"3+6*x-2", "x');
£(3)

f = inline( "x."3+6*x-2", 'x');
f([3 4 5])

= linspace(®, 5, 6)
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= hw_01
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fx =

%

% f = inline("x"3+6*x-2", 'x");
% £(3)

#

% f = inline("x."3+6*x-2", "x");
% f([3 4 5])

% x = linspace(®, 5, 6)

x = linspace(®, 7, 28);

plot(x, sin(x), "k--', x, cos(x), 'ko');

title( trigonometric functions');
xlabel('x");

ylabel('f(x)");

legend('sin(x)", "cos(x)");

grid on;

text{pi, sin(pi), 'sin(\pi)'};
axis([-0.1 7.1 -1.1 1.1]);
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trigonometric functions

[ dass 09.0Bm | dass 09.08 02m | class 09 08.03m x| hwoim x| + |

58 = LINspately, 5, o)
59
68 % x = linspace(8, 7, 28);
61 % plot(x, sin(x), “k--", x, cos(x), 'ko');
62 % title( trigonometric functions');
63 % xlabel('x");
64 % ylabel( f(x)');
65 % legend( sin(x)", 'cos(x)');
(13 % grid on;
67 % text(pi, sin(pi), 'sin(\pi)");
58 % axis([-€.1 7.1 -1.1 1.1]);
09
78 t = linspace(®, 2*pi, 108);
71 w = 2%cos(t);
72 y = 2*sin(t);
73
74 plot(x, y)
75
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58 = IINspacely, 3, o)

59

6@ % x = linspace(8, 7, 28);

61 % plot(x, sin(x), 'k--', x, cos(x), 'ko|

62 % title( trigonometric functions');

63 % xlabel('x");

64 % ylabel('f(x)');

65 % legend('sin(x) ', 'cos(x)");

66 % grid on;

67 % text(pi, sin(pi), 'sin(\pi)');

68 % axis([-0.1 7.1 -1.1 1.1]);

69

70 t = linspace(@, 2*pi, 100);

71 ® = 2*cos(t);

72 y = 2*sin(t};

73

74 plot(x, ¥J;

75 axis square;

76
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56 = IIMspace(y, 5, 0)
59
60 % x = linspace(B, 7, 28);
61 % plot(x, sin(x), 'k--', x, cos(x), 'ko');
62 % title( trigonometric functions');
63 % xlabel('x');
64 % ylabel('f(x)");
65 % legend('sin(x)", 'cos(x)');
66 % grid on;
67 % text(pi, sin(pi), 'sin(\pi)');
68 % axis([-0.1 7.1 -1.1 1.1]);
69
70 t = linspace(®, 2*pi, 1€@);
71 x = 2*cos(t);
72 y = 2*sin(t);
73
74 plot(x, y);
75 %axis square;
76 axis equal;
77
78
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# BE7| - Cwacademic Stuffsa_2w2=% 31 dwhw_01.m 1.5
¢ [ class 09 08 m xl class_09_08_02.m x@l class_09_08_03.m
58 = LINMSpace(v, 3, o) 1
59
L] % x = linspace(®, 7, 28); 05
61 % plot(x, sin(x), 'k--", x, cos(x), kol
62 % title( trigonometric functions’); 0
63 % xlabel('x');
64 % ylabel("f(x)');
65 % legend('sin(x)", 'cos(x)'); 0.5
66 % grid on;
67 % text(pi, sin(pi), sin(\pi)"); -1
68 % axis([-0.1 7.1 -1.1 1.1]);
69 -1.5
78 t = linspace(®, 2*pi, 1@@);
71 x = 2*cos(t); . . i
72 y = 2*sin(t); -5 -1 05
73
74 plot(x, y);
75 %axis square;
76 %axis equal;
77 axis image;
78
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class_09 08.m ¥ | class_ 09 08_02m = | class_ 09 08 03.m | hw O0lm = | + |
79
80 ones(3)
81 zeros(2)
82
83 c=1[123];
84 length{c)
85
86 A=1J123;,456; 7809];
87 sum{A)
88
89 abs(-3)

ans =
1 1 1
1 1 1
1 1 1
ans =
0 a
0 a
ans =
3
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ans =
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ans =
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% %axis equal;
% axis image;

ones(3)
zeros(2)

c=1[1223];
length{c)

A=[123;456;789];
sum{A)

EEE S S A A

abs(-3)

fp = fopen('test.m’,
fprintf(fp, '%d %d\n', 1, 2)
fprint£(fp, "%f %f\n', 3.5,
fprintf(fp, '%e ¥e\n', 100,
fclose(fp);

[ Cwacademic Stuffws_2wW<=% 304 wtest. m

~ - - 4O -
o} 4
1 L2
2 3.5608808 4,500000
3 1.000eed2+22 1,080000e+a3
i




O
J

l
[

iy 3.2 v =X|EHA

e HE 7| - CWAcademic Stuffs_29=r*ofH%hw 01.m
BZ ET7| - CAcademic Stuff3_2w=151 4wh
| class_09 0am | class_09_08 02m i | class_09 08 03.m | hw 0lm &

82 A
83
84
a5

¥ c=1[123];
%
g
86 %A =1[123;456; 7 89];
g
%
g

length{c)

87 sum(A)
88
a9
9@
91
92
93
94
95
96
97
98

abs(-3)

fp = fopen( ' 'test.m’, "w’');
fprintf(fp, '%d Xd\n', 1, 2);
fprintf(fp, "%Ff %f\n’, 3.5, 4.5);
fprintf(fp, "%e ¥e\n', 188, 1800);
fclose(fp);

2 58 58 R 58 f o8

= load( 'test.m')

o
¥=]
w

1.0e+03 =
0,000 0. 0020

0. 0035 0. 0045
0. 1o00 1. 0000
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| class 09.08m | class_09.08.02m 3 | class_09.08.03m | hw.0lm &
oL o
83 % c = [123];
84 % length(c)
85 g
86 %A=[123;456; 7 89];
a7 % sum{A)
88 g
89 % abs(-3)
9
91 4
92 g
93 % fp = fopen('test.m', 'w');
94 % fprintf(fp, '%d Xd\n', 1, 2);
95 % fprintf(fp, '%f %F\n', 3.5, 4.5);
96 % fprintf(fp, "%e ¥e\n', 100, 1009);
a7 % fclose(fp);
98
99 % a = load( test.m")
188
181
162 Random_matrix = rand(2, 3)
183
184
185
TEE
»» hw_01

Random_matrix

0.6324

—] 0. 0975
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0. 2ves 0, 9575
0. 5483 0, 9649
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|' class_09_08m | class_09_08 02m | class_09 08_03m | hw_01m
g3 %c =112 3];
84 % length(c)
a5 A
86 % A=[123;456; 7 89];
a7 % sum(A)
88 T
29 % abs(-3)
9a
91 A
92 T
93 % fp = fopen( 'test.m’, 'w’);
94 % fprintf(fp, '%d %d\n', 1, 2);
95 % fprintf(fp, '%f %f\n', 3.5, 4.5);
96 % fprintf(fp, '%e %e\n', 100, 1000);
97 % fclose(fp);
98
a9 % a = load( test.m’)
188
181 a
162 % Random_matrix = rand(2, 3)
183
184 rand('seed’, 3};
185 rand(2, 3)
186
ZEE
> hw_ 01
ans =
0. 5387 0.0512 0.3mo
0.3815 0. 2851 a.1277



